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| EECE (SII) (1800m)
WifTHHE  20224:2H10H
HEEBK HI7LvRHR 3mE
AfHER  HE 55kg 4L 53ke
B4 12005 4205 H 2405 H 1205 M 605
HiEfem 202242 H7H
HAENR 5 4 PElE | S | e % FAE 4
1 IAT 13 | NAE | TRF BRI 18,750,000
2 IV B3 [ KBEE| S 3% 15,607,000
3 Fo B3 | EFER | Kt BRI 14,300,000
4 AT A= —T= tel3 | EHR | WS 3k 14,240,000
5 Ny )3 — LR i3 | J\AKR= | IR 37k 13,390,000
6 TREIRRTIH 3 | B KO 3% 12,600,000
7 SXNTIL 13 e — ] s BRI 11,220,000
8 ~ATVLAT 13 e — ] s 3% 11,000,000
9 F Ao A — (3 ORI Ry 3 10,280,000
ISP —~JL PR3 | ESFWE | ARtE | 3% 8,621,000
NAF T A P3| FREA| s | 3% 8,555,000
TART— )L A $t13 AR | KJF 3% 8,490,000
AL TARA 13 [ O — | Jfn 3k 8,062,000
HAF)— 13 | EFER | Kt 3% 7,820,000
A —T T AR 03 | AR s 3% 7,130,000
TA—ANTT 13 LAY 3% 7,112,000
Y~AFV— Hel3 | ek IR 35k 6,870,000
VT4V 13 | KIEAN | 16 BY 7 6,600,000
Ja—xv7 3 | BEH | K 3% 6,570,000
ATAT% 13 | HAE | I 35k 6,400,000
2 BEI3 EHE | IR 3% 6,075,000
AN b g3 [ SRR KO 3% 5,990,000
B A= I3 | EHHAE]| IR Ry 3 5,915,000
T— /LR —_ 13 | AR R 35k 5,785,000
RU— LTV A BEI3 EHE| G 3% 5,700,000
<A 2 A BEI3 LTS | s 3% 5,520,000
DIAF T 2= g3 | R | KO 3% 5,500,000
Jr°—K 13 | BARE| KIF 3% 5,100,000
PR AN=VZ 13 | gRE | KO 37k 5,094,000
RO — 2L AT tel3 | JERRE | K RY: 5,030,000
B2 )T AT VA #E13 26 | g 3% 5,030,000
RHY—Y 7 — (3 | REPFE | MG 3% 4,978,000
Y —J R —A FE[3 | TIRER | KOE 3% 4,975,000
77— A F3 | A K 37k 4,455,000
TR —/L (3| EEE | KO R 4,095,000
Fayx Ay Ay i3 | /N7 RF RY A 4,000,000
LT AT AL — i3 | R¥FrE | WS 3% 3,716,000
EZa%es 13 [ Fo— | R RY A 3,690,000
B |3 | HAR— ] KIF Sk 3,675,000
TRITZTT )L T —2A $H13 | Zm | JHR Sk 3,655,000
Ly —4 B3 | /NEZ | W | 3R 3,645,000
TV AT ANT —7 g3 | M | KO 3% 3,435,000
A —LyRE—X ¥i3 W2 Ak 3% 3,070,000
N i B3 I | K 3% 3,065,000
) —AXbuT—)V B3 ERk | KR 3% 3,050,000
S0 A=A 3 | mE R K 35k 3,035,000
IATN) x — i3 | EEEE | K 3% 2,900,000
Fa2T VT ALK 13 | A EEE | KIE 3% 2,900,000
~ AT AT — g3 | M | KO 3% 2,900,000
BT — B3 kR | KJF 3% 2,476,000
Ty AT)L FR(3 | HHE | KIF Sk 2,460,000
Ty BN i3 | B | KIF 35k 1,752,000
af/Tan i3 | JERWE | KIF 37k 1,735,000
S A=— TR +3 | miE| Kt 35k 1,504,000
ARy TR AT %13 G | K 3k 1,260,000
TATVTYT 4 13 | EfEEZE | KIF 3k 1,120,000
7 4 )VANTA T — B3| ikREk | KOF 35k 780,000
< UFo AR i3 | EEE | K 35k 550,000
N T AT — tl3 | EEZR ] KIF 3k 0




